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3 .-‘;Secfioh;A' (-3‘(5'.x’ 2 méfks').'

—For gach questlon from 1 to 30, four optlons are glven One of them is the
correct answer. Make. your choice (1, 2 3 or 4)
Shade-the correct oval {1, 2, 3.6r:4):6i

1. A millipede curls up when itis touched with a stick.

This shows that the millipede is a living thing because it can
(1) grow

(2) reproddce

(3) respond

(4) breathe

2. Which one of the foliowing statements is true for ALL: insects?
(1) Allinsects have six legs.
(2) Allinsects live-on'lan_d.
" (3) Al insects have wings.

(4) All insects have tails.




3.  The diagram below shows the life cycle of an animal. "~

€gg

adult nymph

h

Which animal is likely to have the life cycle as shown above?

(1) cockroach

(2) butterfly
(3) chicken
(4) beetle

4. Which one of the following is the function of a root on a plant?

(1) takes in water
(2) holds the plant upright
(3) takes in carbon dioxide

(4) makes food

U



Which one of the following objects can be bent easily without breaking?

(1) A plastic fork (2) A wooden pencil

(3) A sheet of glass

4

magnet

object X

Object X is made of

(1) wood
(2) rubber
(3) steel
(4) plastic




7.

“Which one of lthe‘-fotlj.é;vvihg ‘propérties is frue for both oxygen and a

book?
(1) "They can be seeh. .

(2) They-have fixed shapes.
(3) They have fixed volumes.

(4) They take up space.

Which one of the following is the best conductor of heat?
(A1) | A.wc'Joden cup

2) A metal cup

(3) Aglass cup

(4) A paper cup

Which one of the following is a living thing?

(1) motorcycle 2)

(3) porcelain plate - (4) - car
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10. The set-up below shows light Shlnlngon 4 H'Jbbe.fbail.' B

‘rubber |
ball

screen’

torch

Which one of the following would likely be seen on the screen?

(1) (2)

©) )




11.

according to their body covering.

The classification table below shows the different animals grouped

" Group X

Group Y

Group Z

Penguin

Whate

Lizard

Which row of animals shown below is correctly classified under Groups

X, Yand Z?
Group X Group Y Group Z
1 Butterfly Emu Swordfish
2 Ostrich Bat Salmon
3 Bat Spiny Anteater Goldfish
4 Sparrow Kangaroo Crab
6
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12. . | fhe diagfarris' show the different stages in the life cycle of a flowering
plant. ' '

The process from stage A to B s known.as

(1) fertilization
(2) pollination
(3) decomposition

(4) germination




13. Some beans were left in a container to germinate as shown below.

After two days, the beans germinated.

| .béan:

T

damp
soll

Which of the following is a likely observation atfter a few days?

(1)

(2)

-

(3)

‘

(4)

O

“



14. Sarah wanted to conduct an experiment. She prepared the following
set-ups as shown below. She made small holes in the cases so air
could enter and she watered the plants daily.

Clear glass case ' Wooden Case

‘R% ﬂ%
R

What was the aim of the experiment?
(1) Tofind outif pl-én'fs need air {o grow.

~ {2) Tofind out if plants need water to grow.
(3) To find out if plants need light to grow.

(4) To find out if plants need space to grow.




15.

The diagram belé}iv s_hdws'Orgahis'm’X placed in a tank. Organism X is

a larva. lt is given-sufficient food, water and air until it becomes an

adult. '

Organism X
Q E=
4 |
food water

The table below shows the amount of food given to Organism X at the
beginning-of the day and the amount of food {eft at the end - of each day
over a week.

Day 1 1 2 3 4 5 6 7

Amount of food at the 15 115 115 | 16 ] 15 15 | 15
start of the day (grams) o
Amount of food leftatthe | 7 4 3 2 |15 | 15 | 15
end of the day (grams)

Based on the table above, which of the -fo‘lléwing statements is correct?
A:  Organism X died on Day 5.
B: Organism X ate the least on day 4.

C: The amount of food eaten by Organism X increases from Day 1 to 4.

D Organism X does not eat on Day 5 onwards as it is in the pupal stage.

(1) AandB o'nly
(2) B andDonly
(3) CandDonly
(4) A, CandDonly

10
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Some fruits a"ré'place_;'d_‘intd'g‘roﬁp_é X‘:ahd',‘Y.'asishOWﬁ' below.

Group X = L .G‘FﬁﬂﬁY

.

Banana , pineapple

BTN

apple durian

The fruits above are grouped accordingly to whether they
(1)° are edible or inedible

(2) “are fleshy or not fleshy

(3) _havéone or many seeds

(4) have a smooth or rough outer covering

11




17.

‘Arun set up an experiment using four pieces of bread of similar size as
shown below. After a few days, Arun observed the following.

Placed in the sun Placed-in.a.cupboard

mould

toasted bread

Based on the above experiment, which of the following condition(s)
isfare needed for the mould to grow?

(1) Warmth
(2) Moisture
(3) Warmth and moisture

(4) Light and moisture

12
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" 1’8;- ;Dah_ 'calrlriéc.i out thé experiment below to find out which material A, B, C
or D absorbs water best. The resuits are shown in the diagram below.

clip

Plastic ruler

Celoured water -] B 7_ H

Which of the materials is most suitable for making a raincoat?

(1) A
2) B
@) ¢
) D

13




19.  Tito brought four magnets, A, B, C and D, close to a box of paper cllps
as shown in the diagram below.

What can Tito conclude from the results shown above?
(1} A and B have the same magnetic strength. :

(2) C has lost all its magnefic strength.

(3) A’s magnetic strength is stronger than D’s.

(4) B’s magnetic strength is stronger than D’s.

14

3



Study the arrangement of the four bar magnets shown below.

C |E FIA

Which one of the following arrangement is possible?

(1) {2)
E{H
C D [B
F E AJ
FlA B
(3) (4)
E|D C|A
F A
E | G H{B
F

15




271, 'Je'rkj-'is-'prdvided _Wi’ththe 'f.dlloi)vinhg materials.

b

2

14

flask of water measuring eraser ruler
cylinder

Using only the materials provided above, which of the following
properties of the eraser cannot be measured or tested.

(1) Mass of the eraser -

(2) Volume of the eraser

(3) Length of the eraser

(4) Whether the eraser sinks or floats

16
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22.  Study the classification chart below. - -

Matter
Group A Group B Group C
book water vapour milk
pencil | - oxygen fruit juice

Which of the following are correctly classified under Groups A, B and

Cc?
Group A Group B Group C
{1 honey salt carbon dioxide
(2} | sait cérbon dioxide honey
(3) carbon dioxide ~ honey salt
1@y - " salt o honey _ carbon dioxide |

17




. Wendy dropped plastic disc B into a beaker containing liquid A as
shown below. She repeated this experiment with plastic discs C and D.

73— torch light
beaker B i
T~ disc B
/

liquid A

/ \ screen

l* —

She observed that the shadows cast on the screen by discs B, Cand D
were as follows.

Disc Darknessofshadow.cast
B Viery Faint
C Batk
D Faint

Which of the following shows the correct intensity of light passing
through discs B, C and D? '

(1) Intensity of light (2) Intensity of light
A N

-Disc

§ ] i = o J N o >
N : §m §
SIS bise Disc

L3




| Study the diagram below and answer questions 24 and 25.

24, Jing Yang did an experiment to try to view a toy robot through tubes W,
X, YandZ.

mirror ! light source
—/ )

mirror

Which tubes(s) enabled Jing Yang to see parts of the robot clearly?

(1) X

(2) XandZ

(3) W, XandZ
(4) W, X, YandZ

25.  What property / properties of light does the above experiment in
question 24 show?

. X: Light can be reflected.
. Y: Light travels in a straight line.
- Z: Light can pass through transparent objects.

() X

(2) XandY
(3) YandZ
(4) X,YandZ

19




26.

Siying placed a metal ballon a met_al'_ri;lg.é‘s'gh,own i the diagram
below. The metal ball could'not pass through'the metal ring.

What could she do to make the metal bali go through the metal ring?

M
(2)
(3)
(4)

A: Place the metal ball in.cold water.
B: Place the metal ring in cold water.
C: Heat the metal balt using a lighted candie.

D: Heat the metal ring using a lighted candle.

A and B
AandD
Band C
CandD

20



27.

The diagram shows four rods, A, B C and D, made of different
materials but of the'same thickness.and:lenath. ©neé end of each rod | is
coated with wax as shown below. The four rods are then placed in a
trough of hot water. '

wax.

\

1 / hot water
trough \ | I I : 7L' .

A B C D

It was observed that-only the:wax onrod A, B and D melted after two
minutes but not the wax on red C.
Whieh one of the following’ riiateridls was rod C likely to be made of?

(1) glass
(2) copper
(3) iron

(4) steel

21




28. Ké!ly;p(')ur'ed- some hot milk into a'cup as shown. She wants to keep her
milk hot as long as possible.

i miitk
- | —(@0°C)

Which one of the following arrangements shown below is the best
method to keep her milk hot the longest time?

) | (@)
- - _ milk — milk

water |~ | 7 T —|=(70°C) water |- __“___— _|=+(70°C)

3oecy L=l = == (60°C) =1~ =T—

(3) @)

- - milk - - _ mitk
waterM_—_ ______ — =t (70°C) Watel’_m_——_ ___ _ - = 70°C)
(40°C) L= i (10°C) L= =

22
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28. :_ “Rita -Cond‘QCfed' 'ah‘_:g-:;ip"efi”r_n‘ent '.bj'heétjﬁg and Cbcjling a beaker of tap
water. She recorded:the c.h‘ang'es in temperature on the graph below:.

Temperature (°C)
' A
10077

roem |
temperature |/

> time

Whieh parts of the graph show heat gain and loss during the

experiment?
Heat gain Heat loss
(1) | AB, DE BC, CD, EF
(2) 1 BC, CD, EF AB, DE
(3) {CD, EF AB, DE
(4) [AB, BC, DE | CD, EF

23




30. The flow chart below shows the processes involved in the human
digestive system.

Food enters —

Guillet

Stomach

F

— ame m— e ey

Smallintestine

h 4

- Large intestine

Based on the information above, what are Substances X, Y and Z?

X Y .z
(1) Saliva Digested food Water
(2) Saliva Water Digested food
(3} Digestive juices Digested food Water
(4) Digestive juices Water Digested food

24
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~ Name: ()
Class: P4 ( )

Section B: 40 marks

R.e‘éd the questions carefully and write down your answers in the
spaces provided.

31. The diagram below shows the young.and adult of some organisms.
Draw lines to match the young with the correct adult. [3]

—~l,

Sep

¢ 7!
. 8
4 /

25 3




32. The diagram below shows a bottle of milk:

cover

milk

Complete the sentenceto Stateif the parts are solid, liquid or gas.

(a) Th_é cover is a ' ‘ - . | [1.]

(b) Milkisa _ . 1]

33. The diagram below shows how Jane sees the box.

—_—

—-+— box

Complete the sentence by filling in a suitable word for each blank.

The | | from the lamp is

by the box and enters Jane's eye. [2]

26
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34.

35.

The diagram below shows a frying pan. -

plastic handle

metal pan

(@) The handle is made of plastic because it is a
conductor of heat. [1]

(b) Thepdii.is.made of metal because it is a
conductor of heat. - [1]

Choose the correct words in the box to fill in the blank below.

harder stronger more flexible

The diagram below shows two different materials.

Material A - Material B

N

plastic block

N 5 kg

Material B is ____ than Material A. [1]

27




~'36. Two spiders are kept separately in a small container.

netting cover

)

oy e spider
. Centalner‘{

Contdiner Z

water

(2) Which spider will die first? Explain your answer.

(b) What changes should be made to the above set-ups to conduct a fair

test to show that spiders require oxygen to survive?

(2]

28




'37.. The diagram Below shows two similar plants A and B which grow in Alf's
'gardl.ent_' R ' : ,

Plant A Plant B

(@) If Ali wants to remove the plants from the soil, which Plant, A or B,
would be harder to uproot? Explain your answer. [2]

(b) . Labet and name the plant part in the diagram of Plant A that helps it
to make food. : . o [1]

29




38a. John set-up 3 containers as shown below. 4 green beans were placed-

on each cotton woo! which was kept wet for 10 days. The containers
were placed in different locations.

wet cotton I wet cotton

/ wool | wool
O O o O 5
- T green — green

S~ bean N7 S bean —

‘Container A ContainerB Container C
e placedina » plasedina . placed in a
garden black box-at - freezer

room

Lamperatu e
(i) After a few days, John obsenfed that only the beans in

Container A and Container B had germinated. Explain his
observation. [2]

(1)  After ten days, John opened the box to examine Container B. He
found that the seedlings had withered and.died. Expiain why. (N

30
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..38b. Leon carried out an experiment on a seed growing into-a seedling as
shown below.

shoot
Seed leaf

In the graph below, the 3 curves shew changes in the mass of the
seed leaf and the shoot of the seedling during the experiment.

Mass - 4 ”
(grams)
K .--. l“.-. | Y
| / e <
N T.
': | | ': >(diarylt)
0 2 4 ° ’ .

() Which curve, X, Y or Z, shows how the mass of the seed leaf
changes during the experiment? Give a reason for your answer.

[2]

31




39. Two identical plastlc bottles have thetr bottoms cut off. Bottle B ;s covered-' :
' with a bottle cap, while Bottle A does not have a. cap

-boitle-eap

Bottle A " Bottle B

(a) Draw the water levels in bottle A and B when they are pushed into
the basin of water in the diagram below. {1]

Bottle A ~ BottleB

(b)  Explain your drawing for Bottle B. _ ‘ 2]

32
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40. Two similar-sized balloons, X and Y were hung from a balance as shown :

below. Rachel used a needle to burst balloon Y

L

L

Balison X

A —j——~ balance

Ballcen Y

(a) Inthe-diagram below, show how the balance and balioon looked like
after Balloon Y was-burst.

n

[1]

_l

(b) Explain the diagram drawn above.

2]

33




41,

‘Fiona _tabed‘ Magn’ef_‘X on a-Aplastic toy boat as shown below.

Object Y toy boat

Magnet X
basin

(@) When she put Object Y near the magnet on the toy boat, the magnet
moved away. What could object Y be? [1]

(b) Give a reason for your answer in part (a). i1

(c) What should Ficna do if she wanted Magnet X on the toy boat to
move towards her? 1]

34
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2 Henry dld an expenment on’ dngestlon He bought a piece- of meat and cut it
_into two pieces of équal size.
The table below recorded what he did to the meat and the time taken for
the meat to be completely broken down after he added an equal amount of
digestive juice to each pigte:

Meat cut into | Meat noetcut into
smaller pieces smaller pieces
Amount of digestive juice
added (ml) 150 150
Timié taken for the:meat to
Bi& corpletely digestéd | 4 8
(hours) '
(@) Based on the results of Henry’s expenment, what can he conclude

(b)

)

about digestion? [1]

Henry’s baby brother accidentally swallowed the seeds of an apple.
The next day, he passed out the seeds in his waste. Explain why the
seeds passed out looked exactly the same, even when they had
passed through the digestive system. [11

Explain how the digestive system-and the circulatory system work
closely with each other. : ' 2]

35




43. The diagram below shows two similar flasks placed in Basins X and Y
contadining equal volimes of water.

o

delivery tube

red ink

empty flask

water at

water at R R
Basin X BasinY 25°C

70°C
When the empty flasks were placed into basins X and Y, the red ink moved.

(2) Using only arrows ' «—— 'or ‘"—— ’, draw in the box above
labelled {a) to indicate the direction of the movement of the red ink
when the flasks were placed in the basin.’ : [1]

(b) Explain your answer in (a). (2]

36




" 44. Andrew wanted to carry out an experiment in a dark room with only one
lighted bulb to investigate how the position of a rectangular-bloek affects the
length of its shadow.

Position of block Length of shadow of the block-(cm)
A 40
B 25
C 5
D 27

lighted bulb { 5

hlock

A B c D .. E

(a) State the. property of light that enabies the shadow of the rectangular
block to be formed. [1]

(b) What is the relationship between the position of the block from the
lighted bulb and the length of its shadow? [

(c) Predict the length of the ¢hadow of the rectangular block if the block
is placed at E. cm ' | [1]

37




Answer

EXAM PAPER 2012

'SCHOOL : AITONG
SUBJECT: PRIMARY 4 SCIENCE

TERM : SA2

Q1] Q2|31 Q4 [ Q5106|107 08 ] 0% |010]011[0Q12[Q13]|014|Q15Q16 Q'17
| 3 4

Q22 Q23] Q24| Q251 Q26 | Q271 Q28 | Q29 | Q30

Q18] Q191 Q20[ Q21
2 [ 3 31 1

31y

32)a)Solid b)liquid

33)ight [/ reﬂé:cted

34)a)poor b)good

35)more flexible

36)a)Container Z's spider would die first. There is no food and water for the

spider. Living things not only need air, but need food and water to survive too.
b)There should be equal amount of food and equal amount of water in both

containers.

Page1to 3 page 1
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Answer Key


37)a)A. The roots of plant A is Ionger and deeper. If there are more roots, the .
roots will be harder to take out because more roots are. holdmg fi rmly at the
ground. :

b)Leaves.

38)a)i)Seeds need warmth, water and air to germinate. Contamer C, which
was placed in the freezer, does not have any warmth to germinate. Container A
and B has warmth, water and air to germinate.

ii)There was no light for the seedlings, which have leaves already, to make
food for itself.

b)i)Z. As the plant grow, the more seed leaves and are used as food and
become smaller. The mass decreasing, so it is just like the seed leaves getting
smailer.

39)a)

b)The bottle cap did not allow the air inside the bottle to escape. As air
takes up space, some water can enter. This is because air takes up space.

40)a)

]

__b)Balloon Y has less mass than Balloon X, so it moves up.

Page 2




o .41)'21)A magnet.

: B)Only magnets repel each other.
. .c)Shg.shoﬂld‘bring the other pole of object Y closer to Magnet X

42)a)The time taken for the food to complexly, digest is faster if the meat is
cut into smaller pieces.

b)The seeds were not digested.

¢)The completely digested food is passed through the walls of the small
intestine and into the bloodstream. The circulatory system would then
transport the completely digested food to all parts of the body.

43)a) >
b)Air will gain heat from the hot water. Air wiill expand and the volume will
increase. This pushes the red ink towards Y.

44)a)Light travelis in a straight line.

b)If the block is further.
c)42cm.
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